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1. What is the rate of change? What does it mean? Ll' 60 - 3 W MOr\'\/h
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4. Is the data linear? Explam how you can tell from the table.

. eS,the rate of ch qna( 1S onstant | .
« 5. De cr1be what the graph of the data would look like.

WWO}%\% beb% line with a posihve glope Hnat crosses the -
. Conte ax}ﬁaw]h cﬁay on her way home from sthool, dJen uses #1 fo huy a ]b&l«ﬁ’

. of chips. 1he chips cost #.15, and she saves the remAining euarter in her
:dhém@@ \-jallf’ at home. She huys 5 lbam of chips per Week-

v . At this rate, how long will it take her to save $10.00? Show your work,

5bac5€ Eer week & saves . 25 per haa means She
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7. Write the equation to show how much money (y) Jen will save after any number of wg(eks%) xplain °
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what each number and variable represents in this context.
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8- Create a gr-aph tO represent thiS I‘ELatlonSh]p. JeffTEEESEEGERANCNEUNERNHRARNANRARNNNRAREARRAAED, a,

i ' ' & To make the graph:

-BJE 1. You could make a table of data
g and plot the points.
&‘ e 2. You could _determine the y
, intercept and use slope to find
§ bro : ‘a second point. Once you have :
st/ o two points, you can connect |
| -l-%-l»l»% | 0 them to make your line. :
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MARIK 16 eeee FTRYING TO SAVE MONEY. HE ALREADY
HMAD $3.00 SAVED AND PUTE $1.00 PER WEREK AWAY IN
HES PEGGY BANK., THIE CAN BE REPRESENTED ¥ FTEHEE
E&W&'EE@BE Y = X+3. ._M“r_?'g o

= .29¥
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10. Imagine you have made a graph to represent the money Mark has saved. Explain why Mark’s line does
not start at the origin and Jen’s line does start at the origin.
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Answer the qQémtl?s‘)b\Qo a 0 8\/ cenan\iy ‘Each ggr-ggf shows the distance traveled from hofme.
Scemarie 1: e M . Scenaric 2: :
Traveling Time : F
] O
. 400 '/“ ra+€
¢ I y = 561 Cha
T 200 prebeindaci .
Raﬂ’f D'P E Yl : x is time in hours = s i rﬁs
gzr:s. g
Chaﬁfje g et i : : y is distance in miles Pef . h\“.
Juo-teb_ SR | |
= |80 e |
— 123458678 .
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11. Which scenario represents a greater speed? Explain your choice. _
Seenario V| because Hhe Slope /tate of cham)e is %%
N Stenario 2 has a rote of 95/, |
12. How far would each person have traveled after 3 hours? Explain. Sc’enafl o l : (60 ml ICQ
pey. hour = 130 mites 1n 3 s, Seenario 2 SS mites per
hour = 165 miles in 3 hs.
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